9 +(3+3§:-25<_
(\3+5)1=\b
w3 =14
A
y= 4-3 =
Yz~4-3 =7

De function at the given value of x = |
st T s jJ
E[xn} + 2(yr3)- clsj,]

2 (y+3) % = - 2(x+2)

dy _ —2(xeD) | - (x+2)
A T T e | (4+3)
Clq\ —’__(\“_23 _ —_E 7 ‘51‘3\ 'j
ay) = Bt3 9
q (19) 3
—3‘\ __(K ¥) =2 5lol1f, uudtf\ntt’
Y3 -4 w=-3
Find w ére the slope of the curve is undefined ( -)\ ( |
H) ¥* +4xy+4y* —3x=6 \ ) % '
densminatof
2y -l-i"fx%ui.r t.)b-l;&"" 8.5%\!‘-3:- O SIOPC =
A ~Hy + 2

“lx%_‘sl i %‘j%ﬁ\‘ =

) - -2\,\—-1{%#%

o =S
dxf%ﬁ

s lope, - ?
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Find the lines that are tangent and plormal to the ciyve at the given point

I X —\Bxy+2y2 =5

Zx—iﬁx_g.l.%r%%-"l%_ﬁ‘ @)

303434y + 203\ v uiDdy -
243 gﬁ 2+ % ﬂ:ﬁ O
-Bc\g +%c\‘ _:_a._()(_)(-vr?h
Sdy = ( jzgl Tungen®
X

%{:O @ \lgi’ﬁﬂ“’l

Find the lines that are tangent and normal to the curve at the given point

z 7
J) xsin(2y)= ycoq2x) (—,—)

4’2

)—‘L‘:l A Qi%) "D«W 5\ TB *‘(D@
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Determine the 2nd derivative of the function defined implicitly

K) 2x' -3y’ =8
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